o¥%  Always better with

fiwara

Industrial Ceiling Fan

—~

HVLS JET FAN 9.8L

(LED)

ik e 3-COLOR TEMPERATURES
CLTL G TN WALL CONTROLLER 5700K / 4000K / 3000K

PLEASE READ THESE INSTRUCTIONS BEFORE USE!



Installation Guide

1. Upper Mount

Normal structure / Side-beam structure

@ Drill holes on the ceiling or on the side of the crossbeam. The position of the
drill holes must fit the installation holes of the upper mount. Use a ¢12mm drill
bit to reach a depth of 60-70mm, then fix 2 to 4 expansion bolts (M10*80) on
each side, and finally fix the upper mount with nuts (see Figure 1.1)

Installation holes

NN
Normal structure or

.
|
Lside-beam mounting |
J

—

Figure. 1.1

I-beam structure / Round-tube structure

@ using two M10*100 hexagonal bolts and nuts each side to fix the upper
mount (see Figure 1.2 and 1.3)

{ % g’ -

3 | Round-tube structure
| |-beam structure é e ,
{ J p——————

l“"‘“‘m’“““\x\\i\‘m“ e

/
e

i
| Installation holes |
| § )

———— S

A
Installation |
g holes ‘

- = -

Figure. 1.2 Figure 1.3



Olier
JRE f

@ Insert the controller into the hollow frame of the upper mount. The power
cord, motor wire, and LED light wire (optional) of the controller are led out from
the end shown in Figure 2

®@ Wrap the controller and wires with the upper mount together with zip tie to
prevent the controller from loosening. The tie should be stuck in the positioning
groove of the upper mount

e —————

P SRR

Power cord, motor |
wire, LED light wire
(optional) are led
out from this end

’ Zip tie positioning ,’
groove |

Figure. 2

@ Distinguish the upper end and lower end of the extension tube. The one with
an open slot is the lower end of the extension tube, vice versa the upper end (see

Figure 3.1)
Upper end . Lov\\ﬁ;ﬁnd

Figure. 3.1 | openslot |



@ Unscrew two M4*10 hexagonal screws near the upper end of the extension
tube, and install the lower decorative cover from the upper end to the lower end,
and then install the upper decorative cover (see Figure 3.2)

® Insert the upper end of the extension tube into the upper mount, align their
installation holes. Then use two M8*65 hexagonal bolts, flat washers, spring
washers, and M8 nylon locking nuts to tighten the structure while keeping the
extension tube perpendicular to the upper mount (see Figure 3.3)

I Install two = \ S
M8*65 5
Upper
| decorative heﬁﬁfsnal
\ X Sover , = < Install two
‘ — M8 nylon
i locking
Lower ./ s
decorative
cover
Figure. 3.2 Figure. 3.3

@ Connect the safety rope by inserting a M6*65 hexagonal screw through the
holes beneath the controller frame, and passing the upper terminal of SS304 wire
rope which is extended from the middle of the extension tube (see Figure 3.4).
Then use flat washer, spring washer, and a M6 nylon locking nut to fasten

M6 nylon
locking nut

M6*65 screw

Upper terminal of
SS304 safety rope

Figure. 3.4



® Connect the 4-core motor connection wire on the controller with the one on
the extension tube, buckle the plastic plug (see Figure 3.5)

® Connect the 2-core LED light connection wire on the controller with the one
on the extension tube, buckle the plastic plug (optional, see Figure 3.6)

Note: safety buckle on male and female plugs should correspond to each other

Figure. 3.5 (motor wire) Figure. 3.6 (Optional LED light wire)

@ Connect the 220V power cord under the power-off state. The power can only
be switched on when the fan installation is completed and all personnel are
under safe condition

Push the upper decorative cover upward to cover the upper mounting, and fix
it by installing two M4*10 hexagonal screws, flat washers, and spring washers on
the extension tube to prevent it from sliding down (see Figure 3.7 and Figure 3.8)

Two M4*10
hexagonal screws

Two M4*10
hexagonal screws

Figure. 3.7 Figure 3.8



T

@ Insert the motor into the extension tube, align their installation holes. Then
use two M8*65 hexagonal bolts, flat washers, spring washers, and M8 nylon
locking nuts to tighten the structure (see Figure 4.1)

Install two

Install two =) M8 nylon
M8*65 —__ locking nuts

| hexagonal bolts

Figure. 4.1

@ Connect the 4-core motor connection wire on the motor with the one on the
extension tube, buckle the plastic plug (see Figure 3.5)

® Connect the 2-core LED light connection wire on the motor with the one on
the extension tube, buckle the plastic plug (optional, see Figure 3.6)

@ Connect the safety rope by giving a M6*20 hexagonal screw, flat washer,
spring washer through the lower terminal of SS304 wire rope, and fix it on the
hole of the motor shaft (see Figure 4.2)

Lower terminal of
~ 55304 safety rope

M6*20
screw

Figure. 4.2



® Push the lower decorative cover downward to cover the installations on
motor shaft, where there are two pre-installed M4*10 hexagonal screws on
extension tube that prevent the lower cover from sliding down. Please be aware
there should be a gap between the cover and the motor (see Figure 4.3)

Gap between
the cover and
the motor

Figure. 4.3

@ @ Pull out the black fan plug at the front end of the fan blade (see Figure 5.1),
insert the blade with the blade holder on the motor, align their installation holes.

/

Figure 5.1

@ Then use three M6*20 hexagonal bolts, flat washers, spring washers, and M6
nylon locking nuts to tighten the blades and the safety chain (attention: the head
of the screws must facing downward during the installation, see Figure 5.2).




® Follow the principle of symmetrical installation, install all remaining fan blades

M6 nylon
locking nut ~ ~~__

Fan blade

Figure. 5.2 | screw

After installing all the blades, please check the following items:

@ The levelness of the fan. If a serious tilt happens in extension tube or fan
blades, it is necessary to use a spirit level to readjust the position;

@ The safety distance between the fan blades and the obstacles. If the safety
distance does not meet the requirements shown in Figure 6.1, please readjust it.

Distance between fan blades
and obstacles > 0.3m

Distance between | = == k
fan blades and ; ]
obstacles > 0.3m | a

Distance between fan
and floor > 2.5m

P FLALAA LS T TS TSP T 4
Figure. 6.1




short press to
turn on the light

Red: Motor U Wire

19]|0Jju0D

Pink: Motor V Wire

Grey: Motor W Wire

Motor

Yellow& Green: Motor Earth Wire\.

Black: Lighting Live Wire

Lighting

Blue: Lighting Neutral Wire \ (Optionl)

Brown: Input Live Wire

Blue: Input Neutral Wire
Yellow&Green: Input Earth Wire

: short
press to activate and
change different mode

AC
220V

Figure. 7.1

When connected to power and

short press, changes wind mode

: the fan constantly

changes from scale 2-4

: Short press, the fan

constantly changes from scale 1-3

when it
is locked, cannot
control any buttons

long
press 2s for clockwise
or anti-clockwise
rotation, wind blows
downward or upward

; : short press
to increase the RPM

ir: short press
to decrease the RPM

: short
press to start and
stop the fan

When the whole power is off

and reconnected to the power

within 10s,

long press this button for 2s
to connect with the inverter



MODEL

HVLS JET FAN 9.8L

DIAMETER 3000mm

POWER 230V~ / 60Hz / 280W
QrTy 1 Pc.

WEIGHT 19kg

MEAS. 630*390*290mm




FOR PRODUCT PURCHASE:

Berton's Place #46 Sta. Rosa St. Barangay Manresa Quezon City, Philippines.
Tel Nos. 8442-3856; 8442-3866; 3448-7674; 3412-6155; 3413-9503; 8282-5049; 8282-5098

Email: iwata@colentco.com, iwata2@colentco.com, Website: www.colentco.com
Iwata3@colentco.com, sales_mktg@colentco.com

Suite 300 Del Monte Mansion Building Del Monte Avenue corner
c 0 L E N T 210 Speaker Perez St., Quezon City, Philippines
Tel Nos:8742-8139 / 8742-8140 7/ 8742-1526 / 8740-3815

Mobile No.: 0917-5413633 Email: diversifiedcolentcdpi@gmail.com
Website: www.colent-iwata.com

COL=NT

MARKETING PHILIPHINES INLL

BIVERRII 185 PROBUCTA ING

FOR AFTER SALES SERVICE:

HELP SQUAD SERVICES, INC.
297 D. Tuazon Ave., Brgy. San Jose, Quezon City
. Phone Nos.: 0908-8908597 (Smart) / 0917-1042611 (Globe) 0917-1082201 (Globe)

Email: helpsquadservices@gmail.com / sales_mktg@colentco.com



	2025-03-19 001
	2025-03-19 002
	2025-03-19 003
	2025-03-19 004
	2025-03-19 005
	2025-03-19 006
	2025-03-19 007
	2025-03-19 008
	2025-03-19 009
	2025-03-19 010
	2025-03-19 011

